Lecture 24

Monday, November 25, 2019

Let £ N>V be o f(‘homr nzp. Hee Vs g vector space ovel F.
How do wa ,(rno[ the, egenvectis Ond  egenya (ues of f ?

We solve for VEN, V£O auop A EF r(/oru the e/(uq‘hzm
f) = Ay
B

e

Forlw) > B0 | FlW) < ule+
FW’ all the e,(genvcdvcs aud Q(g.auvf\lu&t a{(j F.

+ Metlosd 1 (dl'rao't Yhe‘l;LLDﬂ{)
we solue fo/ MGE} , w0 auﬂ A €Ik ({/‘am Hha QA{LLQ{(W
Flw) = Aw (¢)
Wrde w= ad+bitt for Sonme abic 6R. e have
(HSG) = wlad) =— alu+)'+ b(xH) +C
= ot +atbe+ a+vb+c.
RHx) = )\(all’-{-éxt—c_) = Axa" + Abx + AcC.
For (HS 1o be opucd to RHS, we heed
a= Aa,
{ 2&1‘5: /"\b)
Aehte = Ao .
Ths fffgfew\ ¢S ezfu.u’vafau’L 1o

% O“)‘)b el ":Zb‘\
(- ¢ = —a& —b

a =0
{ Z) = _Z‘VC(—A) = @)
¢ = (=a=b) /(1) =0,
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Tn thic cafe, u=aw+htc= 0 Thu, any A#| i nob
o eigenvalue gr F.
. I([ A= | ‘61«&»\

a Gl
dj O =—=2a
O - _a-b
Thic gves a=b=0Q while ¢ 6 mél‘{rar:j.
'ﬂ/xwﬁ; w= Cc
we condude tha X=1 « ta only cl’geu\mlue of F.
W, = L ¢ an elﬁeu\/eo’tw cortespordmg t0 A = 1. Awg

CJH«JU' e{go.\«‘futw (9£ T: L o Nohero MM[‘LIP{Q (% Wy -

¥ Method2 @ (we coowdinder to wirk with mataces)
We +try to cowwerd, the Pleevv\ of g\‘v\dnj eigen veckorr/
el‘geu\ra[wu 0@ £ 1o a proue,m oF pdl‘vg et‘?eu\/adovf/
el’jehvdu.‘ls c{' o M{'r{}. , uJLu"CL (' -(-LL ‘EUPQ q( PQJHM

ve  Were Waore ,('Aw‘gmv wl'ﬂ« i '.(MEA/ A% T,

\/—; ELC/R) (s a \Jo.d:of gPaca czF &(\Mem.n’m/\ 2
Vv Ras w baus Q= {}b 13

g & &
f?uj vec{?u—f w = m]'—t—L;x +tc & fq, Aas Cbora{l‘mlﬂ’- vedtor
in basic T Given as :

a
[:'-‘Jg = [L]

LEV\E’E( f\'\ﬁLP F (¢ ('Cfre%”\[“aﬂ b\j Y\«C.'I"(\‘l

;2 ( |
[P] = [ e()J 2 EF(ez)lg [ F(Qg)_-l_gJ
|

B | |
We L\Ava,
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Fle) - EGY = (r+ DY = A& 4+ 2w ¢l
Thug, 1
WS U:(e,)l q = [’?‘J

Fiep) = F('L) = 'l.-{-f
Thus, o
()] - L\ }
|
F(Q&):. {:(l) = 1

_DthQ/fﬂ"ﬁ; [ & 0O
(Flg= [2 | OJ

[
Na‘w{?; we f{m.d ‘f/lz\{ 615214\/(’.&0»’3 c:upl &Bxuva(ues 0<F 'dxl'(
Ma-+ﬁl (Oi“ul A).

[-Xx O O
| [ [~X

@CC@L@S& -6!/\1..( S & QOUJQL/ '6 (a V\@Ulavf '\/\a.-tft ) 55

dot (K -AT) = (1)U = ().
praa?uc/f f;f eufries
on bhe gP(ajohd

'TL\u,(, A [,m_( on{j ohe ﬂujemveo{‘of =1

L (2 fcmcp aﬂ etjew\/ac’{a@ Qﬁocna{'eo{ uuﬁ’« r\ ’i

. O O o0 RREF |l O O
k-1, = 9 0 o - & | 0
l [ o o o 0
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The a{ua'l;fm« (A—Il)v: 0 hag L’hpki];tl(j Mz Qolt«:fl“mg

v=(00,e¢) with ¢ G6R
Lt we convert the ()roélem back o P, .

v = (o, O,c) &> Cor(acpoz«c)s 4 wu—= ci =c EP,.
Tl\algfore,

5/\=| s only ageuvalue of F

u=c ( (,svtdﬂl«'l {-"«Mc%rm) Jor 2y ct O s an

egenvedy of F.
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